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Part III — Vocational Subjects

sewflesfl Clgmdlev L LD
COMPUTER TECHNOLOGY
(50l HMID pmiGle eyl / Tamil & English Version)

&Ted jema : 3.00 wewfl GBIy ] [ Qwrgg wHutueamser : 70
Time Allowed : 3.00 Hours ] [ Maximum Marks : 70
Sleyemraet : (1) Swasg lamésepbd sflwrg udeurd o drarsr eramLsamen FilLTTdgé

Instructions :
GoIly = ()

(i1)
Note : (i)

(i)

Qamareraybd. FHLILSLIEGL @GeppullmLider iemms searsmenilliumerflLb
o L amqwinss Ggfleilggsem.

Beod g s®mUY owuloear LLHCL  TWHUSHGD
93 &5CaTIE(HaugnGL LwearL(d s Couam(Hb. LILBIGE alaFelsDE
Quendled LweT(h&SaLb.

Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@ - 1/ PART -1

SemeNSHG NaTESHEHEGD allen_ieT&seLD. 15x1=15

Qarhssiul(heter BIesTE LIHN elenLsefled WEeD emHLjenLul

devLeows CsmrldsOsgs GMULBLa alamLwlmaryn Carsg
CT(LPSELD.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer.
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1.

@@ saflliCurd Bar®b Gsriki@b Curg pg euamswirar CSTLkEGsmalL
vwerL(hSEIHmg ?

(=) QarlH QFTL_&5LD (=) 2 Lém QFTL_&5LD
(@) Cuu Cgr_&sLb (FF) ser QFTL_&sLD
When a system restarts which type of booting is used ?

(a) Touch boot (b) Warm booting

(c) Real boot (d) Cold booting

2150 eTETUG eTangd GDIGELD ?

(<=1) S (Peta) (<) HCeor (Kilo)
(@) sl (Zetta) (FF) Qg (Tera)
2750 is referred as :

(a) Peta (b) Kilo

(c) Zetta (d) Tera

Weeu(meuareummieT ergl e CISC ClFwiedl @0 ?

(1) Pentium III (<4,) Intel P6 (@) Pentium IV (rF) AMD K6
Which of the following is a CISC Processor ?
(a) Pentium III (b) Intel P6 (c) Pentium IV (d) AMD Ké

@hern Lwarm @uss enwlibang rhdsissml(h :

(1) MS-DOS (<=y,) eflemraen (@) welsen (/F)  eflewrCLmei
An example for Single Task Operating System is :
(a) MS-DOS (b) Linux () Unix (d) Windows

s QuisEE enwliiled Shift+Delete eramm Csirey, Camriy wHmib CasriLemment
Blrpsrors Ba@n ?

(1) darden (<4,) Windows 7

(@) <eargmi® OS (FF) MS-DOS

Under which of the following OS, the option Shift+ Delete permanently deletes a file or
folder ?

(a) Linux (b) Windows 7
(c) Android OS (d) MS-DOS



3
@eupmieT 6T LGS Lweruriger Guweny Sevgullen CoaoLnsdled sm(Hb ?
(1) seeIL L L6l (<) Lligll Ll enL
(@) algapl e LlenL (FF) s@medll LlenL
The top most part of the window which displays the name of the application is :

(a) Title bar (b) Menu bar
(c) Format bar (d) Tool bar

Insert UL ig 11 L enL Ue)IGTer 6T &L L6 pelantsSler s pihley Camss 2 sab ?

(<) Section break (<4,) Manual break

(@) Page Break (/r) Hard page break

Which command on the Insert menu is used to insert a page break in the document ?
(a) Section break (b) Manual break

(c) Page break (d) Hard page break

@eupmieT eTeneu Gloudled Gy eusdl 2 enL gl e ?
(<=1) Gavl96Ten

(<) Coufled 2 @Ter_ss5Hems L CILIHBTSEHESE eGS0
(@) sanfllumer

(/) sremeu 2 (Heumd@Gse wHmib CFlSH6

Which one is not a Mail Merge feature ?

(a) Labels

b)  Send mail content to many recipients

(
(c) Calculator
(d) Creating and storing data

EPESTERTLIGTEUDDIET LG Shooli6h STedd-6r epavlt Liwerir( erg) ?

(<=1) Geor_Lev 1-2-3 (<)) N8 sres

(@) VLT oolie ST (/) UGy &Tedd

Which of the following applications is the parent to OpenOffice Calc ?
(a) Lotus 1-2-3 (b) VisiCalc

(c) StarOffice Calc (d) LibreCalc
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10.

11.

12.

13.

sa&El (g srafld @hens sraer B&55 s sLLamearaws CsrbosHES
Gouamt(Hd ?

(<) Sheet — Delete (<4,) File — Sheet — Delete

(@) Edit — Sheet — Delete (rF) Delete — Sheet — Delete
Which command is to be selected to delete a single sheet in Work sheets ?
(a) Sheet — Delete (b) File — Sheet — Delete

(c) Edit — Sheet — Delete (d) Delete — Sheet — Delete

eumgSenawimer Glummetlen eramenent 101 -60l(Hbg! 200 -&@6T allgeUamngs Ceuer(HLd.
Lwert 200 -&@& AFHsWwrs g 100 -&@ Gomeurs 2 draf( QFugTed senilef
ey Qeldlenw GarhHd@n. Weareud eThss &mell @sn@ LweTUBSHDg ?

(=1) aligsL(Hze (<) ulgwe

(@) CFeeLiquIT&EseD (FF) euigeIeLDSSHe0

The customer is required to design the item number between 101 to 200. If the user types

above 200 or below 100, the system should give an error message. Which of the following
tool is used ?

(a) Filtering (b) Listing
(c) Validating (d) Formatting

@uwuGreavele marsg Ho@safear SAnudliyser del L auflenguie
SADESUILILIG(HEGWD (P !
(1) Handout (<4,) Notes (@) Slide Sorter (rF) Outline

In Impress, which view shows thumbnail versions of all your slides arranged in horizontal
rows ?

(a) Handout (b) Notes (c) Slide Sorter (d) Outline

YemeumeuaTeuhmIeT 6Thd euaaWIEnOLIL| Li@eh(BEms T(HSSIGST L TEE CsrerL g ?
(1) @mbUriY eumewenwLliL) (LAN)

(<) CQuwblsT seafl euemeweanoliL) (VPN)

(@) saluulL uEd euemaweanoliL] (PAN)

(FF) @eupmieT ergiLsleenad

Which of the following type of network contains Bluetooth as its example ?

(a) Local Area Network (LAN)

b)  Virtual Private Network (VPN)

(
(c) Personal Area Network (PAN)
(d) None of the above
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14.  werevld, enes.enll L TLILTE) 6reueUmm Aenpssiiu(himn ?

(<=1) Dongles (<) Data Card (@) Memory Card () Pen Drive
USB, WiFi adapters are often called as :
(a) Dongles (b) Data Card () Memory Card (d) Pen Drive

15. Insert Table 2 enywimied QUL igepws Hwés LweTL(HD GNSGe sredl erg ?

(=) Ctrl+F8 (<) Ctrl+F12 (@) Ctrl+F9 (rr) Ctrl+F10
Which is the shortcut key for insert table dialog box ?
(a) Ctrl+F8 (b) Ctrl+F12 (c) Ctrl+F9 (d) Ctrl+F10

L@&d! - 11 /PART - 11

GO : eTemeuCuend ymi elearmss@EréE el wallGseb. eflarm eremr 24 -&@s
SL_L_muwng adenL_weflésab. 6x2=12
Note : Answer any six questions. Question No. 24 is Compulsory.

16. mieTewTEdD (PSHEUT-60T UENSSHET WITEnE ?
What are the types of cell addressing ?

17. QUG oolie Erevd-ar 2 ey Ceup@dlenws uHml 6T (Pgis.
Write about the text operator in OpenOffice Calc.

18. yeuanrsdlev ereucurm Hmssmiser Cleleumis ?
How do you make corrections to your document ?

19. aarsde Sy erpsgissmers CamILSHSTT aULS(PEDEENET 6T (SIS

Write the steps to insert special characters in a document.

20. gGCsabd epemm eulgaLl L CaiTe SHemeT 6T (Lps)s.

Write any three Formatting options.

21. gl LOHMID AgSGOILL] TTDTE 6Temen ?
What is Header and Footer ?

22. saflafl cuemawae e o drer (penamud UHH Helli DBseuDED 6T(LHHIS.

What do you understand by the term node in computer networks ?

23.  Wlememepsadle 2 6er CC wmmitd BCC eremmmed ereoiedr ?
What is CC and BCC in an email ?

24. flapsgised upd BeliT fleug wrg ?
What do you understand by a Presentation ?
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L@ - 111 / PART - 111

@MUY : eTemauCuenid M aTssErsE el walldsea|b. llarm eraw 33 -&@&
SL_L_muwns el well&Esalb. 6x3=18

Note : Answer any six questions. Question No. 33 is Compulsory.

25. wmFPHE QFTily LD @ GHILL eumTs.

Write a note on Recycle bin.

26.  @UIGT DhoolSe HMedd-ab ASIN gmientl LHPl SH(HESLOTS 6T(LPGIS.
Write briefly about ASIN function in OpenOffice Calc.

27. @M JUMTEH O THSMET QUTTSNSHET 2 6TeTen TeTLINSS & et MleusnHs e
UL LPEPMEENET 6T (LDS)S.

Write down the steps to find the number of words in a Paragraph.

28. L auementullen Yenaantlufeerer e LLSdlem Cgeflenel ereucumm rHmieums ?
How do you change the clarity of the picture in a background of table ?

29. dlevrwssder GHUGLS555 Splidudygmerts ubHml erpgis.

Write the significant features of monitor.

30. (150),, -&@ Hlarrer @mblene ecrewrentmas WIHOH, HSEMET GTEHTERTIN 6T 6w TS
LOTHMIS.

Convert (150),, into Binary, then convert that Binary number to Octal.

31. PROM wpmib EPROM — Gaumu(h5gis.
Differentiate - PROM and EPROM.

32. UOUERTWTSSHD TETDTE) 6Tesen ?

Write a note on Multiprocessing.

33. el wpmid erenr euflengenw ereueummy BaH@eumls ?

How do you turn off bullets and numbering ?
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U@ - IV /PART - IV

SN : Semesisg elamss@ns@Eh alenl wafldsa]b. 5x5=25
Note : Answer all the questions.
34. (1) Wemeumuelhernm alleTd@Hs.

35.

36.

() ewlliFs FeLGUTN

(i) weer sl uLeipsd

(i) ulewld GOWIH / QR @MuI® L liLimer

S|6V60G)

(<) 2 GTHETETE GTEMHITED GTETET ? ,eUMTSS) ereleumm 2 eTgemered ClFuieumi ?
(a) Explain the following.

(i) Inkjet Printer

(i) Multimedia Projector

(iii) Bar Code/QR Code Reader

OR
(b)  What are indents ? How do you apply it in a document ?

(1) Quss Cprader ojgliuamLule Hlanareus srgearmbsamer e meuflensulle
SMDEHELD.
S|6V60F)
(<) RUET oolIeD HTEEG-60 EUENTLIL LD 2 (HeUTS@GD Lilgflenavganer allemd@s.
(a) Arrange the memory devices in ascending order based on the access time.
OR
(b) Discuss in detail the steps to create chart in OpenOffice Calc.

(=) ureud Quiss enwlilber &MmSgI(Heldlanear Fem LiiemIT(HEEHL 6 ellemd@s.
S|6V60F)
(<) @evenri 2 erajsaled GFliw Ceuamgwemeiubd, CFws gl rsameuub Umml
eNeuflésaib.
(a) Explain the concept of a Distributed Operating System along with its advantages.
OR
(b)  Explain the do’s and don’t of Safe Surfing on internet.
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37.

38.

(=) Gwufled Clinrey-ed Hreneu ereueuTm 2 (Heurs@Geumil wHmid Celiiumi ?
ENTVVE:

(=) udlQaeuamr, wrewrelm GQUwm, wHUGLeT 1, wHUCUET 2, wHUGLGT 3
<, &l W el HmL 6 Snlqll ¢ LOTETEUT STEUSTHNS 2 (THEUTHES. LDTewTou Tger 6
wHutuearsefler sl hHsbsTens wHmID Frrefleows sansdl(Hs. 50 -&@W0
Sdlswrear LSHUCLETSMmET LFnF cuaTaTSSHQID, 50 -S@GHW G Do ren
LGS Sleulil] cuaTenTsSlad SHrenTidsse, L.

(a) How will you create and store data in Mail Merge ?

OR

(b) Create a student database with register number, student name, Mark 1, Mark 2 and
Mark 3. Calculate the total and average of the students. Show the marks which are
below 50 in red colour and marks above 50 in green colour.

(1) @M Yauarsang AFHL_LILHeUsHE e eredeurm perGermLid ClFuieumi
TETUSDGD D,eUMTSMS eTeleumm HFF(Heurl erarugH@GD Ligblanevseaner
eT(LDGIS.

S|6V60F)

(<) Brb Liwem(HEgIb sblbuldldar Ggmplaml Lisansds MU, eelblaimamenmu|n
leT&H&6YLD.

(a)  Write the steps to Preview before printing and steps in printing a document.

OR
(b) Mention the types of wireless technologies we are using. Explain each of them.

-00o0-



